SUSY QU D IRV
H= -9 + Vv
A\

Hip. = 0 fo ~ gromsd cHate

&%
V(o = —
+ € A
A~
(—Qx t W )(9)( t W) =
e AR NVARE S VAR AR
(W)t W't
MY y= AT
/ l
A =0 =g/ cwp  W=- gl or)
l/ﬂa(»: ¢ exp(- W(x)) W ,‘\

3% & W (%) ’< I
[\
2/:5% A Hz — AA‘)‘ :__9;» + W,z__(_ w

040[”:—-/41

0
gy Evge = atage [ A

HoAg = A A+ 0= En Ay



@) _ ), — + t
He O = &0 = ARG /A x
U AT p= AR g = 1 g

[Q: h]=T[Q K]=0
{Qf/ O‘} = H

= YA B i Fog it
L GO IR e T
— ?)' HF . 1 }{{

=L (R,9 =L ®)+y LR

Ne

Ho, = KUY 7/%5) = & () 0
74
HQ.§o =(k 1)y Ag) = Hahpy = Cyhft - E.C. =0

A

SN . :
Ey Tl A HOp? =E'p A
e IS N S S i
A +
& T"’_\’—-—- Ayl i
" + +. .0 ()
o e_,ﬁ\ %['L) AA A‘ﬂg i H(Z)A‘/(;ﬁ) = E /”02)
m A+‘fh(.z’
— A
¢ AN P 0
R F



) B ) w -2 e’ + R e
@%1 ' /_{(1)?5() - E(« @g) ? /

E Yo 72/1)@?,%)(
/4@“) - (?,CTWI) @2} > ({p_+w1)e:/9~x " {—-ip-fl//.')’?én e~:’f.x
12
i 1 1 1P+ X
b (ip+w )T e
@“’ Pp-x —iptW pX
q__)m — __/A_.r_——é\ } e -+ e
E

| P~ +W! €
;P' s ~ \ \_/”_‘)

*oo

\

ézc_ L W=l the

W= +¢- ﬁ)[oéx)

c
i e (chx)*
o he
Hy=-90+ 4 = _c,?il_x
He= ATA Ay, =0
Hy= AR (% + L4 =0
Lp(;"(x) S




@&) P ; M RZ o T;”:
=
m\‘ eipx
\p 1pX
o) , a (=1p '1)6 €
AP = Liprtiner 2 et o o
~~ . ipx T pipx & S E
)(-'-on [\'p +4) e ;p+1
Pee-¢

¢ -1 'S
R =0 o= —p'’T
6 E "p+1 8



